BRAE4

A KEFOREEICBTSARE1MARDTELSF

B : AQHIRICHEY HEIFE 1 MARDTELESH

(0) BEIMNAMDTLESFOERBERIAH

% (EERAH)

PER
(B+D) — (A+C)
B+D x 100

C: AnHiE#Z 2MABDRAHAFTLESE

D : COMMICHIET 2HED 2 AMORLEE

3 F"LEEMNEAL. XFELTHERAFEFNSER

PN REARKREE2EXKFESEFI4IBEORTEICL LRERFE
S0 3 A
5z B2 B 1 738 BB 3w 45t BT
BT %Wl =#=t 3
HiEE
T IREE AR SLET
(BIMRURREBOKSR)
K £
KB WHNIZTRATERTSHAIENTEET,
FAlE, DEEICERL T, TEEDERY., BREDREICEENELTH
GE)
YEITDT, N EERARKREFE 2EESHEFISOREICEDETREINDS L S5BELLET,
it
1 EXEREAAR ekl A H
2 (1) LEEZH
/1) mE1HIHAMDTLEE
PER % (E#)
B—A
B x 100

GE) T, TREZDOMERMICELCI-FH] EAND,
(BESH)

@ ARBEEEFA, EREEARVERRIIGRICLSIEMLEOBENHYET,
@ HRMNMORBEEZIT&R. AREOADHRAICEREEIIERRIHBRICH LT, BERERERILEDFAH

EITS3CEMNRETT,

Q@ FLEHERVEWERT SODIHMMEBEERF LTI LS., EHER, TLERE)

REDERY. HELGWIEZRELFET,

A
T

() AREENEMYR - & A Bhoow# &

REES

RET R

il

arand

£ A
A AET

W Et

m Jo




R2Z58~

/S I ORIRIE S 2 2655 5 TR 4 SRBEHRE IS0 D BIHKEH R &

1. RE1HMABDOFRESIZDONT
(1) 1AM RS

- &+ H
AL D5 b (FE4HK)
M [A]
(2) ERLOHIRICHIET 2RI 1 A HOE B
&= H
ATAEREL A o5 ks ()
M [B]

(3) WRIZHONT
(B—A) = B x 100 = % = 20% (E#H)
(DR 2 &Y 0 #0)
2. 10O8HE%2MAABDRAHATLEEIZDONT
(1) 1o (1) OHIRIE 2 A RO JRIAZTE &

4% 2 A D e % i A
g¢ b (AIA)

! M
2 AMoEHEH ER{®)!
(2) Efto#IMICxHST 2RI 2 A o05E L&
o k@ (55 i m
e nAMoaiHE%E HID]
(3) WAERIZHONT
A + C = M
B + D = M
(B+D) — (A 4+ C)
x 100 = % = 20% (RRA)

(B + D) (D 2128 #0)

ERRIZOWTHEDH Y £H A,
S0 e A H
FEE
£ Py
£ FR
REE 5l




